Table S1: Equations of the Model

d[CIb2]
da

ks‘bz _Vu,bz ' [C I b2]

d[Cdc20]

dt 5,20 _Vd‘zo : [CdCZO]

d[Cdh1] Vi -([Cdhl] —[Cdn1]) v, [Cdni]
dt 3, +([Cdn1] ~[Cdh1]) I, +[Cahl]

d [Pds1]

dt = ks,pds _Vd,pds ' [Pds:l'] - Ias,pds . [PdS]'] ' [Espl] + Id,pds ' [PE] + kd‘esp : [PE]
d[Esp1]
dt = _Ias,pds : [Pds:l'] : [Espl] + Id,pds ' [PE] + ks‘esp - kd,esp : [Espl] +Vd,pds ' [PE]
d[PE]
dt = Ias,pds ' [Pds:l'] ' [Espl] - Id,pds : [PE] _Vd,pds : [PE] - kd,esp ' [PE]
d [Poloi] k.. [poloi] - V., -[Poloi] N K. - [Polo]

it s polo d,polo J + [Poloi] J + [PO'O]

a,polo i,polo

V. -|Poloi Koo *LPOI
d[Polo] Vi, [Poloi] K, [Polo] -V, -[Polo]
dt J,. +[Poloi] J_ +[Polo]

a,polo i,polo

d[Temla] _ , . , Vien [TEML] V., -[Temla] Vias [MEN]

Gt e [Temlal-[Cde1Sal+ly,, [MEN ]+ = e Tl [MEN] * I +[Cdc15a] + [MEN]
dlCdcisal_ | rroro | Vi IMEN] V. [CdC1Si] V., [CdclSa]

gt e [TeMA][CACTSAL oy TMENT 5 o IMENT F 7., F[Cc151] I, +[Cdci5a]+[MEN]
d [MEN V. -[MEN V__-[MEN
[ ]=|amen~[Tem1a]-[Cdc15a]—|dm-[MEN]— o[ ] - il ]

dt ’ ‘ Jon +[Temla]+[MEN] J_, +[Cdcl5a]+[MEN]
d[Cdc14]

— 1., -[Cdc14]-[Net1]+1,, - [RENT] -1, -[Cdc14]-[Net1P] +1,, - [RENTP] -1 , - [Cdc14]-[PNet1] + 1, - [PRENT]
~1,, -[Cdc14]-[PNet1P] +1,, -[PRENTP]

dt



V., [ Netl V., <[ Net1P
—d[Netl]:—Ial-[Cdcl4]-[Net1]+Id1~[RENT]— o[ Netd] oa [NelLP]
dt ' ‘ J,, +[Netl]+[RENT] J,, +[NetlP]+[RENTP]
V, 15 [ Netd] . V. -[PNeti]
Ji, +[Netl]+[RENT]  J,, +[PNetl]+[PRENT]
d[PNetl] _ 1., [Cde14].[PNett] +1,,-[PRENT] - V, 3 -[PNet1] . V3 -[PNet1P]
dt ' ' Jy, +[PNetl]+[PRENT]  J,, +[PNet1P]+[PRENTP]
. Vigo [Netl] V5 -[PNetd]
J;s +[Netl]+[RENT]  J,, +[PNetl]+[PRENT]
d[PNettP]_ I, -[Cdc14]-[PNet1P]+1,, -[PRENTP]+ Vi [PNett]
dt ' ’ Jys +[PNet1]+[PRENT]
~ V, 45 - [PNet1P] . V20 <[ Net1P] ~ V, 4 - [PNet1P]
Jy, +[PNetlP]+[PRENTP]  J,, +[NetlP]+[RENTP] J,, +[PNet1P]+[PRENTP]
d[RENT] _ l,, -[Cdc14]-[Net1]-1,, - [RENT]- Ve, [RENT]
dt ’ ' J,, +[Net1]+[RENT]
V.., -[RENTP] ~ V,1-[RENT] V., -[PRENT]
J,, +[NetIP]+[RENTP] J, +[Netl]+[RENT] J,, +[PNetl]+[PRENT]
V., -[PRENT V. -[PRENTP
d[PRENT] =1, -[Cdc14]-[PNet1] -1, - [PRENT]- ol ] Al ]
dt ’ ’ J,, +[PNet1]+[PRENT] J,, +[PNet1P]|+[PRENTP]
V,,,-[RENT] V.., -[PRENT]
J, +[Netl]+[RENT] J,, +[PNetl]+[PRENT]
V5 -[PRENT V., -[PRENTP
—d[PRENTP]=|M-[Cdc14]-[PNet1P]—|d4-[PRENTP]— ol ] Al ]
dt ‘ ' J,, +[PNetl]+[PRENT] J,, +[PNetlP]+[PRENTP]
V,,, -[RENTP] - V.., -[PRENTP]
J,, +[NetlP]+[RENTP] J,, +[PNetlP]+[PRENTP]
Clb2
(cok L2
1.0+ INH
1.0+kpp-ki-| ACTEspl
[PP2A] = +kpp-ki-| Sp]~PP2AT

1.0+ki-[ ACTEsp1]
S =exp((—ks)*(t—tm))*(1.0—N)*C*(1.0— SCCRRDD)
Vd,bz = kd‘bz + kd‘bZ' : [CdCZO] + kd,bZ" : [thl]

V,,o =K, + K, - [Cdn1]

d,20"

=k, +k_ -[CDK]

\/i,cdh k.cdh k.cdh*



=K, g + Koy -[ACTCdC14]

Va,cdh - p,cdh

v, =k, +k,_,. -[Cdc20]

d,pds d,pds d,pds'

=k_.+k_.-[CDK]

a,polo a,polo a,polo’

vV, =k, +k__-[Cdhi]

d,polo d,polo d,polo’

=k . +k__ -[ACTPOLO]+k

attem atem atem’ atem”

-S-[ACTPOLO]

=k, +K, [ACTPP2A] +k  -[ACTCdcl4]

item item

V.. =k __+k . -[ACTCdcl4]

a,c15 a,cl5 acls

=k _.+k __-[CDK]

i,c15 ic15 i,c15'

V,,, =k, -[CDK]

k12

V., =k, -[ACTPP2A] +k . -[ACTCdc14]

p.21

V. =k . -[CDK]

k.34 k,34

=k, [ACTPP2A] +k . - [ACTCdc14]
=k, ,, - effc15-[CDC15a] + k, ,, -[ACTPOLO] +k, ,,. - [ACTMEN]
=k ,, -[ACTPP2A] + k . -[ACTCdc14]

V,,, =Ky, -[ACTPOLO] + k., -[ACTMEN]

cou
V., =k ., -[ACTPP2A] +k . -[ACTCdc14]
[PDS1T] = [PDS1] + [PE]

[EsplT] = [Espl] +[PE]

[ACTCdc14] = effcl4 - [Cdc14]

ACTMEN = effcl5 - [MEN]

[ACTPOLO] = effpol - [POLO]

[ACTEspl] = effesp - [Espl]



[ACTPP2A] = effppa - [PP2A]



